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(1) (05%)% A B — 5x5 #9 s BRAHK2ME5 3 NRFBR (F24) #i75]K-

(2) (05%)3% B B — 4x4 thH R > BEBHBE HAKXS p(D)=-A(A-HA-1)A+]1)
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x, - 3x, = 4x; = b
-3x, + 3x, + ax; = b
5, — 3x, - 8x3 = b
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1 pe —iwx - _
F(w) = ""fz'?j—w fx)e ™ dx, i=+-1

Fo)

dods B AR 2 B BUT S48 5% 3 Fourier #3214 ,
B (B ARAE RS0 4% H 8 B > B RIR T3 2|
2
(1) (07%) F20) * T
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4, BhEE H(x,y,2)=2xy+z" °
(DO5%)E 6T u A& ¢ BFE (gadient) » Rful,-1,3) °
(2)(05%)k K ¥ ¢ £ (L-1,3) K~ ~Fhd i-2j+2k by oEH -
(3)(05%)X K FH u £ (1,-1,3) HEZHE (divergence) -
@) (10%)R K HE u S L {(x,y,2)| x=cost,y=sint,z=1,0<1 <27} Y RAE D
(line integral )
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